. - b :z Q } l é,&

| \
< e el H2xE—15 =0 @ xEode+3=0
Y’)_o(’ac,ﬁ\—zo/YJt\/LT lk'—o(k\%f) 2
- &
(Zo«~}>\< — 15 ( e [/ZO/*S‘)T‘ °
o 3 \ _’2?0(/&'\90(—251







T rovate 1 | A)serivw-ivaure O/e_///eol,
é(y)»ﬂf bt 4r-7 =0 L (<) Hg//ﬁd

’g)[w) = Gu~ 6w~ 2R+

5 x% /e +6

)@l (\& ) ‘wé

2 Ilxto (22 (=)< 0 =

i ~

2 O

—







(7(|a,) 71' Ulll.Ce OVV'O%‘_—Q,V\Q_E. w(l.%‘\f‘&oAa N ‘."L’}C eLO' Se

¥ C (= — X |
(=) f(eeta)=Chs)

CI%(?/ )10 DZ Owoge/ue&
g‘«d?({)muiéwc A Sa Q/j: = T /.

| Che ct D! = X‘,g) 66 Q,//OIfA )=
Tl geverice puuto T oo edfaOP > Pﬁr(ﬁ:flfﬁ)\o

o b B
){L(t%zjfv()): C (6’2,3&_—_ t 1o =c Terca FZ €




T\'\ Y QV- lé cuv VA [b\o.g‘o 0'{6_//6 ).l/l 7\4 V\QQZI.C’/\(. O'(Q/
o -
Sistew, dli curve

)
G

—\:Q?QZ
’(?L:‘o(




TT@V&Q l / /hoon < -

A

L}:,ow& &\sf——-é

‘\%:—;O\KE —-ngkt%
7y

< ~9 _ k; ] 29/

= _, | T =Y

R 9/ Z SN




